



Naam: _____

Datum: _____ Score: _____

$$\left(\frac{2}{5}\right)^3 + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{2}\right)^0 + \frac{3}{5} =$$

$$\left(\frac{1}{4}\right)^3 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{2}\right)^3 + \frac{3}{5} =$$

$$\left(\frac{2}{5}\right)^0 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{6}\right)^3 - \frac{1}{4} =$$

$$\left(-\frac{1}{5}\right)^3 - \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{2}\right)^0 - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{2}\right) - \frac{1}{5} =$$

$$\left(\frac{1}{3}\right)^3 + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{6}\right)^3 + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{3}{4}\right)^2 - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{2}{5}\right)^3 - \frac{3}{4} =$$

$$\left(-\frac{1}{2}\right)^3 + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{2}\right) + \frac{1}{2} =$$

$$\left(-\frac{2}{5}\right)^0 - \frac{1}{3} =$$

$$\left(\frac{1}{4}\right)^3 - \frac{3}{4} =$$

$$\left(-\frac{1}{2}\right) - \frac{1}{2} =$$

$$\left(-\frac{3}{4}\right)^2 - \frac{1}{2} =$$

$$\left(\frac{2}{5}\right) + \frac{1}{2} =$$



Naam: _____

Datum: _____ Score: _____

$$\left(\frac{2}{5}\right)^3 + \left(-\frac{3}{5}\right) = \left(-\frac{67}{125}\right)$$

$$\left(\frac{1}{2}\right)^0 + \frac{3}{5} = \frac{8}{5} = 1\frac{3}{5}$$

$$\left(\frac{1}{4}\right)^3 - \left(-\frac{1}{2}\right) = \frac{33}{64}$$

$$\left(-\frac{1}{2}\right)^3 + \frac{3}{5} = \frac{19}{40}$$

$$\left(\frac{2}{5}\right)^0 + \left(-\frac{1}{2}\right) = \frac{1}{2}$$

$$\left(\frac{1}{6}\right)^3 - \frac{1}{4} = \left(-\frac{53}{216}\right)$$

$$\left(-\frac{1}{5}\right)^3 - \left(-\frac{3}{4}\right) = \frac{371}{500}$$

$$\left(\frac{1}{2}\right)^0 - \left(-\frac{2}{5}\right) = \frac{7}{5} = 1\frac{2}{5}$$

$$\left(\frac{1}{2}\right) - \frac{1}{5} = \frac{3}{10}$$

$$\left(\frac{1}{3}\right)^3 + \left(-\frac{1}{3}\right) = \left(-\frac{8}{27}\right)$$

$$\left(-\frac{1}{6}\right)^3 + \left(-\frac{1}{3}\right) = \left(-\frac{73}{216}\right)$$

$$\left(-\frac{3}{4}\right)^2 - \left(-\frac{1}{5}\right) = \frac{61}{80}$$

$$\left(-\frac{2}{5}\right)^3 - \frac{3}{4} = \left(-\frac{407}{500}\right)$$

$$\left(-\frac{1}{2}\right)^3 + \left(-\frac{2}{5}\right) = \left(-\frac{21}{40}\right)$$

$$\left(\frac{1}{2}\right) + \frac{1}{2} = 1$$

$$\left(-\frac{2}{5}\right)^0 - \frac{1}{3} = \frac{2}{3}$$

$$\left(\frac{1}{4}\right)^3 - \frac{3}{4} = \left(-\frac{47}{64}\right)$$

$$\left(-\frac{1}{2}\right) - \frac{1}{2} = (-1)$$

$$\left(-\frac{3}{4}\right)^2 - \frac{1}{2} = \frac{1}{16}$$

$$\left(\frac{2}{5}\right) + \frac{1}{2} = \frac{9}{10}$$